MATH 125
SPRING 2013 NAME:
Exam 4

1. Carry out the conversion, showing work.

(a) 12.5° to radians. Leave answer in terms of 7.

(b) 1 to degrees. Round answer to two decimal places.
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) Determine the amplitude, period, and phase shift of the function y = 4 sin <4_1x + g)

5cosp sin? ¢ — sin g cos @

w

: Simplify:

sin? o sin® p — cos? ¢

e

: Use a half-angle identity to evaluate cos 15° exactly.
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: Establish each identity.
1 2
(a) w =2csc’x — 1
sin®
(b)

1+sinx
————— = (secz + tanx)?
1—sinz

(=)

. Find the exact value of each.
(a) sin(tarf1 ‘?)

(b) sin™" (sin )
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: Solve, finding all solutions in [0, 27).
(a) 2sin®6 + Tsinf = 4
(b) sin2xcosz —sinx =0

(c) sec’t — 2tan®t =0
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. Solve the triangle.
(a) B =10°, C =100°, b = 2.
(b) A =89, a=15.6,b=18.4.
() A=10°, a =3, b= 10.

(d) a=4,b=3, c=6.
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TRIGONOMETRIC IDENTITIES

sin(u 4+ v) = sinu cos v £ cos usin v

cos(u £ v) = cosucosv F sinusin v

tanwu £ tanwv

t +v) =
an(u + v) 1 Ftanutanv

Sin2x = 2sinx cos &

cos2x = cos?x — sin® x
2tanx
tan 20 = ———
1 —tan“z

[1—
sinfzj: ST oS
2 2

/1
coszzj: + cosx
2 2

T sinx
tan - = ——
2 1+ cosx

sinzsiny = £[cos(z — y) — cos(z + y)]
coszcosy = 5[cos(x — y) + cos(z + y)]

> )
sinz cosy = [sin(z — y) + sin(z + y)]

1

3 ]

cosxsiny = s[sin(x + y) — sin(z — y)
. : . T+ x —
sinx 4+ siny = 2sin Y coS Y

2 2
. . T+Y . T—Y
sinx —siny = 2cos sin
2 2
cosy+cosx:2cosx+ycosx_y
2 2
. Tty . Ty
CcOs Yy — cosT = 2sin sin

2 2



